BALERABARTZE SM6EE RHETHELWE

A | B |lEB| ® H i = A B & £
4 (22| 0 |RfF&E ABX (1EE) 300, 000 300, 000
5123 6 [L&mE B & EN R IME EEC 163,120 146, 880
6 |24 9 |=7%E 27Uy MEREEH AD) RKRE £F TOH 2,398 144, 482
7122 0 [XfF£E ABXT (2EE) 300, 000 444, 482
71(123] 9 |=%%E 2Ly MEREEH GAS) RKRE £F TOH 2,398 442, 084
8 |22 6 [L&mE B & EN R ML EEC 89, 355 352, 729
8 |23 ]| 9 |EHKE 27Uy MEREEH 6A%) RKEKE €F LO2H 2,398 350, 331
9 |24 9 |EHE 27Uy MEREEH (RS REKE €F LOH 3,366 346,965
10 21| 0 [ZEfF& ABXT GEE) 300, 000 646, 965
10125 9 [=%E 27Uy MEREBRER GRS REE £F LOH 3, 366 643, 599
1128 9 [=%E 2Ty MEREBRER 0A%) REE £F LOH 3, 366 640, 233
12117 4 |ERERE|EHIE—R IR EEC 1,316 638, 917
121 17| 6 [E#®E B & EN R IR EEC 236, 840 402,077
12 (25| 9 |=%& 7Ly MERBER (10A2) RERE €£F $OH 3,366] 398, 711
112 ] 0 |3t ABK™ (4EE) 300, 000 698, 711
1127 9 |=%E 27Ly MEREER (1A% KKRE EF TOH 3, 366 695, 345
2 6 6 |LHE B & EN R IR EEC 144,757 550, 588
2 | 1|7 |cEE SBE LR HERBHRR) MR LEC 18,040| 532,548
2 126 9 [E=%E 27Ly MEREBEHR (1285 KKE *F TOH 3, 366 529, 182
3| 24| 9 |E=HBE 7Ly bEREER (1~38%) KKRE EF TO2H 10, 098 519, 084

1,200, 000 680, 916 519, 084
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